®
YAO HAN

PARTS FOR BROTHER RH-9820

YAO HAN INDUSTRIES CO.,LTD.

RH-9820-1

MOVABLE KNIFE HOLDER ASSEMBLY

1.S34901-0-01
2.534899-0-01
3.141542-0-01
4.SA7076-0-01
5.501694-0-01
6. 104336-0-03
7.534900-0-01
8.152904-0-01
9. 534884-0-00
10. 060630-3-12

THREAD TRIMMER ARM
MOVABLE KNIFE ASSY
SCREW 1/8-40 L-2.8
THREAD HANDLER
SCREW FLAT SM2.38X4
SCREW SM2.38
OPENER, T-NIPPER
SCREW 11/64-40 L-3.2
OPENER SPRING
SCREW SM2.38-56X3

RH-9820-2

FIXED KNIFE HOLDER ASSEMBLY

1.S34893-0-01

2.534895-0-01
3.534894-0-01
4.534887-0-01
5.534886-0-01
6.018260-8-32
7.062300-5-12
8.534890-0-01
9.534891-1-01
10.534888-1-01
11.542515-0-01
12.062020-4-16
13.021020-1-06
14.534892-0-01
15.534896-0-01

SETTING BRACKET FIXED
KNIFE

FIXED KNIFE

THREAD GUIDE PLATE

SPRING PLATE F-KNIFE

SPRING U PLATE F-KNIFE

BOLT SOCKET M2.6X8

SCREW PAN M3X5

THREAD CLAMP (U)

THREAD CLAMP (D)

THREAD CLAMP (M)

SCREW M2.6X3.5

SCREW PAN M2X4

NUT M2

OPENER PIN

FIXED KNIFE BRACKET

SA6989-0-01

MOVABLE KNIFE L

SA6988-0-01
MOVABLE KNIFE R

e

SA6990-0-01
THREAD HANDLER

S37660-1-01

SHOULDER SCREW M4

SA6991-0-01

MOVABLE KNIFE
DRIVING PLATE

SA6992-0-01

THREAD TRIMMER LINK

A ASSY

; -~

e | &

SA6994-0-01

THREAD TRIMMER LINK

B ASSY

SA7001-0-01
BUSH TR TRIMMER ARM




®
YAO HAN

YAO HAN INDUSTRIES CO.,LTD.

PARTS FOR BROTHER RH-9820

SA6657-0-01
NEEDLE BAR ASSY L

2@

DOX558 SA6655-0-01 SA6662-0-01
NEEDLE SLIDE BLOCK GUIDE F HYPOID GEAR ASSY
S41251-1-01
S41310-1-01 NEEDLE THREAD SA6691-0-01 SA6694-0-01

NEEDLE GUIDE A

HOLDER PLATE A

ZIGZAG DRIVING LEVER

ZIGZAG LEVER

2 4

SA6707-0-01
SA6671-0-01 V-PULLEY T-PULLEY U S$35350-0-00 SA6801-3-01
CAM ROLLER TAKE-UP ASSY CYLINDER 16X10 KNIFE BRACKET UNIT

S35410-0-01 S35412-1-01 S35034-0-01
LOOPER, R SPREADER, R SPREADER STOPPER, R
SA7547-1-01 S35413-1-01 S35033-0-01 SA6863-0-01
EYE LOOPER SPREADER, L SPREADER STOPPER, L LS HOLDER BASE
$35029-0-01 S37723-0-01

UPPER MOVABLE SA7064-0-01 UPPER MOVABLE KNIFE SA6868-0-01

KNIFE(A)

UPPER MOVABLE KNIFE

(B)

LOWER THREAD PRESSER J ASSY




®
YAO HAN

YAO HAN INDUSTRIES CO.,LTD.

PARTS FOR BROTHER RH-9820

. 6 58
( / \
f
S37752-0-01 SA7065-0-01 SA6872-0-01
THROAT PLATE 1.8-J THROAT PLATE 1.6 NEEDLE GUARD U
A /
]{ ~ L
S
SA6861-0-01 SAT578-0-01 SA6873-0-01
SA6852-0-01 SPREADER DRIVING GIMP THREAD GUIDE C | GIMP THREAD GUIDE C- SA6961-0-01
LOOPER LINK CLAMP CAM ASSY J ASSY TENSION U ASSY
SA7175-0-01
L-THREAD TENSION SA5804-0-01 SA5679-0-01 SA6673-0-01
SHAFT ASSY FINGER GUARD CYLINDER ASSY B 16X30 ZIGZAG CAM
SA6773-1-01
SA6812-0-01 SA6763-0-01 HAMMER BRACKET
T BELT 375-5GT T BELT 320-5GT ASSY

SA6832-0-01 SA6833-0-01
LOWER SHAFT CAM LOOPER CAM ROLLER
COLLAR SHAFT

SA6949-0-01
CYLINDER ASSY 10-30

SA6853-0-01
LS SLIDE GUIDE

SA7592-0-01
VALVE VF5120-5G-03

SA7050-0-01
CYLINDER ASSY L 16X15

SA6881-0-01
L TR TAKE-UP SPRING
SUPPORT




®
YAO HAN YAO HAN INDUSTRIES CO.,LTD.

PARTS FOR BROTHER RH-9820

$35438-201 S35436-201 S$35481-201 S35483-201 S35409-101(S)
< 50mm > < 50mm > < 50mm > < 50mm > < 50mm >
2.8 30
i "i 2]
: ; l :Tw ;
SA7107-101 SAB806-101 SA7108-101 SA7109-101 SA7110-101
<42mm > <42mm > < 42mm > <42mm > <42mm >

3.8

[ swev! -1
| swev: '

7| T

SWaY

4.3

i

SA7111-001(S)

<42mm >
Rt/ Size (mm) 10 12 14 16
| ®HHEFS/ Code | S37211-001 | S37210-001 | $37209-001 | S37208-001
00.01) | X3/ Size (mm) 18 20 22 24
| ¥®#HEFS/ Code | S37194-001 | S35092-001 | S37195-001 | S37196-001
R=t/ Size (mm) 26 28 30 32
(-02) |“gm#m=E/Code | S37197-001 | S37198-001 | S37199-001 | S37200-001
L2634 | Rt/ Size (mm) 34 36 38 42
L3442 |"@@#FS/ Code | S37201-001 | S37202-001 | S35093-001 | SA7106-001
Rt/ Size (mm) 50
FHHEFS/ Code | S35479-001
R~/ Size (mm) $10 S12 S14 S16
(02) | ®BEFS/Code | S37701-001 | $37702-001 | S37703-001 | S37704-001
L1422 R=t/ Size (mm) S18 S20 S22 S24
11826 | ®M#FS/Code | S37705-001 | S37706-001 | $37707-001 | S37708-001
L2230 | R+/Size (mm) S26 S28
$MAFS/ Code | S37709-001 | S42053-001




